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$%����� %����!�5�
������+
$%���q !�� .C� %��&%���u
$%����� 
��
�$	5$�	������+?�.
%��3&���
�3�$�����������&��� &����&����	�����
�	����� 200 ��� �%'!+�
&5�����3�$���
�
&%���& - &����& ..,. 2549 4�%��� ������>+�
&5�������
����%��!��������%
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1.  +�
&5��3��!����+
$%��3&���
�3�$
2.  .C� %��&%���u
$%���������	
����
����
�+
$�������&��� &����&����	�����
�
3.  �k		������%����!�5�
��
�$	5$�	������+?�.
4. ���&��&��(��%��������.C� %��&%���u
$%���������	
����
����
�+
$�������

&��� &����&����	�����
�
5. �k		�������&��(������.C� %��&%���u
$%���������	
����
����
�+
$�������&��� &���

�&����	�����
�

�/��J
�(������
����
�(������(��

4�%��,B%w�.!�3� %��3&���
�3�$&�
����c���� 46.12 �- (SD = 5.00) �3����;3&�
�������3�$
45 - 55 �- (��
��� 51.50) 	!%��,B%w�����!���(&,B%w� (��
��� 48.50) ���%
!
���.��!	��$/���
��� (��
��� 36.50) ��������
!�����3
���
�
�53����3�$ 1,000 - 65,000 !�� �c���� 7,897.80 !��
(Median = 5,000) &��������.��$.

���&3&����E� � (��
��� 47.50) �(��?�.�53 (��
��� 82.50) �&3
&�������	����� (��
��� 88.50) �3����;3��$�$
�53������%3
��&����	�����
�������
 �k		�!����$
�$&����	�����
��&�����&
� �������
��� 64.50 &��.��$��
��� 23.50 ����&����	�����
�
��� ���
����%���&����	�����
���&)��&��� � �������
��� 15.00 �&3�����!b
�>�&��.,���$	�%�&�
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���	�����
�� �������
��� 18.50 �
%	�%��E��
��� 18.50 &�%���������&%���� �/b
�>�&��., �3��
��;3����%������.��
��&%���� �� �������
��� 13.00 �&3&������� !��������
!��������������
�	
����
����
� (��
��� 91.00) &�?�����+?�.
+'$
�$
���&3&�������
���&�����$��$��+?�.
(��
��� 78.50) �3����;3�&3������	��+?�. (��
��� 61.00) 
����
��� 30.00 &��.��
��!!� %��
�.��
���	&���'$��%&��5% ��$����$ 2

����$ 2
�����*- �/��
� �(��V
*-� �(����*-���������#�� 	
��(���,�#������
�(������(���
�	������/�
�J
%�-�.�����
�(������(�� (N = 200)
+�
&5������� ���&(�� ��
���

��� (Χ = 46.12, SD = 5.00, Range = 40 - 59)
          40 - 44�- 83 41.50
          45 - 55�- 103 51.50
          56 - 59 �- 14 7.00
����!%��,B%w�
          �&3�������� 35 17.50
          ���(&,B%w� 97 48.50
          &�)�&,B%w� 30 15.00
          
���� ;;�/����!��3� 26 13.00
          �� ;;����/�5$%�3��� ;;���� 12 6.00

���.
          
&3!��� 76 38.00
          ��!���%��/��x� ���% 	 22 11.00
          ��!	��$/������ 73 36.50
          ���+��/)��% 	�3����� 29 14.50
��������
!����/���
� (Χ = 7,897.80, Median = 5,000, Range = 1,000 - 65,000)
���&�.��$.
+
$������
          �.��$.

���&3&����E� � 95 47.50
          �.��$.

�3&����E� � 7 3.50
          �&3�.��$.

�3�&3&����E� � 50 25.00
          �&3�.��$.

�3&����E� � 48 24.00
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����$ 2 (�3
)
+�
&5������� ���&(�� ��
���
�(��?�.�&��
           �53 165 82.50
          ��� 8 4.00
          �&���/��3�/
�%%��
�53 27 13.50
 ������	�����
          �&3&� 177 88.50
          &� 23 11.50
��������%���&����	�����
�
          ��$&����	�����
��&�����&
 129 64.50
          ���	�����
��� �&�&�/�&3�&�����&
 24 12.00
          ���	�����
��&�
��� 47 23.50
������+
$%���&����	�����
�
          �&���&)��&��� 30 15.00
          �&�	�%%����%w�+
$
.��> 17 8.50
%�������!b
�>�&��.,���$�&����	�����
�
          �&3�����! 37 18.50
          �����! 10 5.00
%���������&%���� �/b
�>�&�
          �&3��� 163 81.50
          ��� 37 18.50
����4�%���������&%���� �/b
�>�&�
          ��&%���� � 26 13.00
          ��%w���� 2 1.00
          �. �&b
�>�&� 11 5.50
������ �������	
����
����
�����
!����
          �&3&� 182 91.00
          &� 18 9.00
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����$ 2 (�3
)
+�
&5������� ���&(�� ��
���

?�����+?�.
          
+'$
�$
���&3&�������
���&�����$ 157 78.50
          
+'$
�$
&�	��6��������� 25 12.50
          �&3
+'$
�$
��&�������
���&�����$ 18 9.00
%�����	��+?�.���	���-
          �&3������	 122 61.00
          ������	 78 39.00
����4���%��&���!!� %��
          ���	&���'$��%&��5% 60 30.00
          ���	�����$������ 40 20.00
          ��!b
�>�&� 32 16.00
          ���	���$43���� 30 15.00
          &���&
.��>��� 38 19.00

!0����������1�����+�����)�	
��
���
&��������*.%����
������������
���&��

4�%��,B%w�.!�3� %��3&���
�3�$&���
���c����.C� %��&%���u
$%���������	
����
�
���
������&
�53������!�5$ (Χ = 2.66, SD = .34) ���&���
���c��������%����!������
����
�5$��� ( Χ = 2.89, SD = .30) �
$�$&���
 ��
���c��������%��	��%�����&������ ( Χ =
2.83,
SD = .39) 
������%��

%%����$%�� (Χ = 2.53, SD = .55) ������!�������&���
���c����������������

����%�����	��+?�.���	���- (Χ = 2.13, SD = .92) ��$����$ 3
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����$ 3
�(��V
*-� �(����*-���������#�� 	
������!0����������1�����+���
�	������(���	��!0��
��������1�����+�����)�	
��
���
&��%�P�����/�� 	
�+�����  (N = 200)
.C� %��&%���u
$%�����

Χ
SD ����!.C� %��&

%��

%%����$%�� 2.53 .55 �5$
%����!������
���� 2.89 .30 �5$
%��	��%�����&������ 2.83 .39 �5$
%�����	��+?�.���	���- 2.13 .92 ���%��$
�����& 2.66 .34 �5$

�&��
	��
�%��&���+�
��
�3������+
$.C� %��&%���u
$%���������	
����
����
�
+
$�������&��� &����&����	�����
�.!�3� .C� %��&%���u
$%���������	
����
����
����
%��3&���
�3�$&�%���q !�� �������	��&�%������ 3 
����! ���
%3 ����%��

%%����$%�� .!%���q !�� 
&�%��������+�
���&������� 5 ���E$ �����
�3�����E$����������E$�����&�* 10 - 15 ���� (��
���
64.50) �
$�$&���
 ��������3�$��%�����% 	%��&�3�$ D ��3� ���E������&� ��5%����&� ���$��!���
���
% 	%��&�����������$��


% ����	������'�+BE� (��
��� 40.50) 
��

%%����$%������%���q !�� % 	
�������	����� ��3� �� �+BE�!���� �� �
��%�����$�( (��
��� 30.00) �3������%����!������

���� .!%���q !�� &�%��������+�
�q !�� ,���% 	����%��(�
,��
���! 1 ���
���
�3��
�-
(��
��� 86.00) �
$�$&���
 ��!������
�������&��������> 
��(5%��
$��&���%%��
 ���& (b����)
(��
��� 65.00) 
�����$
�������%������E��&��(�������
$ �E��&�����+��� �E��&��+����.� (��
��� 33.50)
����%��	��%�����&������ .!%���q !�� &�%��������+�
!
%%�!����
$��&
�3��k;������% �+BE�����
%�����
!	�%.���	�� (��
��� 35.00) �
$�$&���
 .5������B%w��k;��%�!!����%��� � !����������
��$�	 ���
!���������!(�
�&��
�&3�!���	 (��
��� 34.00) 
��&�% 	%��&�������&�3�$����5��B%43
�
���� ��3� mk$�.�$ �5�����,�> 
3�����$��
 (��
��� 28.00) 
������%�����	��+?�.���	���- .!
%���q !�� &�%��������+�
� ���&%�����	���&������ �
�3�$�&�����&
 (��
��� 26.50) �
$�$&���

����!%�����	��+?�.���	���- (��
��� 20.50) 
��� ���&%�����	����!�E����������
�
�3�$
�&�����&
 (��
��� 17.50) ��$����$ 4
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����$ 4
�/��
�����
�(������(���
�	�����!0����������1�����+�����)�	
��
���
&��%*-�
�(������(���*
����K��������%*-��� 3 ������	������/�� (N = 200)
.C� %��&%���u
$%����� �� � �

� �

�������
�
�����
          1. ���&������� 5 ���E$ �����
�3�����E$����������E$�����&�*
             10 - 15 ����

64.50

          2. ��������3�$��%�����% 	%��&�3�$ D ��3� ���E������&� ��5%����&�
              ���$��!��� ���
% 	%��&�����������$��


% ����	������'�+BE�

40.50

          3. 

%%����$%������%���q !�� % 	�������	����� ��3� �� �+BE�!����
             �� �
��%�����$�(

30.00

���������%�������
          1. �q !�� ,���% 	����%��(�
,��
���! 1 ���
���
�3���- 86.00
          2. ��!������
�������&��������> 
��(5%��
$��&���%%��
 ���&
             (b����) ��3� 4�% 4��&� ���E
���

65.00

          3. ���$
�������%������E��&��(�������
$ �E��&�����+��� �E��&��+����.� 33.50
����������������*��
          1. !
%%�!����
$��&
�3��k;������% �+BE�����%�����
!	�%.���	�� 35.00
          2. .5������B%w��k;��%�!!����%��� � !������������$�	 ���
!�������
             ��!(�
 �&��
�&3�!���	

34.00

          3. &�% 	%��&�������&�3�$����5��B%43
����� ��3� mk$�.�$ �5�����,�>
             
3�����$��


28.00

���������� �!����
��I
          1. � ���&%�����	���&������ �
�3�$�&�����&
 26.50
          2. ����!%�����	��+?�.���	���-��%�- 20.50
          3. � ���&%�����	����!�E����������
�
�3�$�&�����&
 17.50
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������!.C� %��&%���u
$%���������	
����
����
�	��
�%��&���+�
��
�3���������
%��3&���
�3�$&�%���q !�� ��
������� 3 
����!
�% ���
%3 ����%��

%%����$%�� .!%���q !�� ��
����
�����+�


%%����$%��
�3�$��
� 30 - 60 �����3
���E$ ������>��
�3�$��
� 3 ��� (��
��� 38.00)
�
$�$&���
 ��$�%�
�%��4 ��%� +*�

%%����$%�� ��3� �	'!����
% �	���� ����	�����
� (��
���
34.00) 
��%3
�%��

%%����$%�� &�%�����%���&���E
���


%
�$�!� D �������������&�* 10 -
15 ���� ��3� %��� �$����� D ���
% 	%��&���

%
�$��
� (��
��� 22.50) ����%����!������

���� .!%���q !�� ��
���������+�
���$
�������%������E��&��(�������
$ �E��&�����+��� �E��&��+���
�.� (��
��� 16.50) �
$�$&���
 ��!������
�������&��+&�� 
���������
�
��5$ ��3� ���E
����>
���� �&�� 
%$%��  ���$�%3 
���� &�E����� A�
 �� �%��
�$��
���������!������ (��
��� 8.00) 
��
���$
��������� )�%����& �B�$ �3�$��
�%�3�%���
� (��
��� 6.00) ����%��	��%�����&������ .!
%���q !�� ��
���������+�
������
����! ���
��%�3
&�������&��
&����&������&�% (��
���
85.00) �
$�$&���
 ����������&�(������3�$ D (��
��� 14.50) 
����+�
&5��. �&�� &�%����%�!%��
%�
�+�k;��	�%45�
���
������&����!���%�!���
$ �.��
�3�����%��
%��+�k;����+BE� (��
��� 10.50) 
��
����%�����	��+?�.���	���- .!%���q !�� ��
���������+�
����!%�����	��+?�.���	���-��%�-
(��
��� 47.00) �
$�$&���
 �+����!%�����	��&
.��>���
��$.��!������&��
&�
�%��4 ��%� 

�3�$��
�3�$��B�$�%����%�!����	
����
����
� (��
��� 42.50) 
��� ���&%�����	����!�+&����
���
�
�3�$�&�����&
 (��
��� 41.50) ��$����$ 5
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����$ 5
�/��
�����
�(������(���
�	�����!0����������1�����+�����)�	
��
���
&��%*-�
�(������(���*
����K������/��%*-��� 3 ������	������/�� (N = 200)
.C� %��&%���u
$%����� ��
���
�������
�
�����
          1. 

%%����$%��
�3�$��
� 30 - 60 �����3
���E$ ������>��
�3�$��
� 3 ��� 38.00
          2. ��$�%�
�%��4 ��%� +*�

%%����$%�� ��3� �	'!����
% �	���� ����	
             �����
�

34.00

          3. %3
�%��

%%����$%�� &�%�����%���&���E
���


%
�$�!� D ������
             �������&�* 10 - 15 ���� ��3� %��� �$����� D ���
% 	%��&���

%
�$
             ��
�

22.50

���������%�������
          1. ���$
�������%������E��&��(�������
$ �E��&�����+��� �E��&��+����.� 16.50
          2. ��!������
�������&��+&�� 
���������
�
��5$ ��3� ���E
����>
             ���� �&�� 
%$%��  ���$�%3 
�� �� &�E����� A�
 �� �%��
�$��
�������
             ��!������

8.00

          3. ���$
��������� )�%����& �B�$ �3�$��
�%�3�%���
� 6.00
����������������*��
          1. ������
����! ���
��%�3
&�������&��
&����&������&�% 85.00
          2. ����������&�(������3�$ D 14.50
          3. ��+�
&5��. �&�� &�%����%�!%��
%��+�k;��	�%45�
���
������&����!���%�!
             ���
$ �.��
�3�����%��
%��+�k;����+BE�

10.50

���������� �!����
��I
           1. ����!%�����	��+?�.���	���-��%�- 47.00
           2. �+����!%�����	��&
.��>���
��$.��!������&��
&�
�%��4 ��%� 
               
�3�$��
�3�$��B�$�%����%�!�������	
����
����
�

42.50

           3. � ���&%�����	����!�+&�������
�
�3�$�&�����&
 41.50
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�������/���������J/	
�	���J�)��/����� �!

4�%��,B%w�.!�3� %��3&���
�3�$&���
���c��������%����!�5�
��
�$	5$�	������+?�.
�����&
�53������!�5$ (Χ = 3.83, SD = .25) ���&���
���c��������%����!�5��������>+
$%��
�q !�� .C� %��&%���u
$%������5$��� (Χ = 4.27, SD = .39) �
$�$&���
 ����
�$	5$�	������+
?�. (Χ = 4.23, SD = .43) ����%����!�5����&���
�$+
$��� (Χ = 3.97, SD = .45) 
������%����!
�5��
%�������$�3
%���% ���� (Χ = 3.90, SD = .56) ������!�������&���
���c����������������
 ����%��
��!�5�
������+
$%���q !�� .C� %��&%���u
$%����� (Χ = 2.61, SD = .48) ��$����$ 6

����$ 6
�(��V
*-� �(����*-���������#�� 	
�������������J/�
�	������(���	���������/���������J/	
�
	���J�)��/����� �!%�P�����/�� 	
�+����� (N = 200)
%����!�5�
��
�$	5$�	

Χ
SD ����!%����!�5�

%����!�5��
%�������$ 3.90 .56 �5$
%����!�5����&���
�$ 3.97 .45 �5$
%����!�5��������> 4.27 .39 �5$&�%
%����!�5�
������ 2.61 .48 ���%��$

�$	5$�	������+?�. 4.23 .43 �5$&�%
�����& 3.83 .25 �5$

����������)����%
����!0����������1�����+�����)�	
��
���
&��������*.%�
���
������������
���&��

%��,B%w����E$��E&����
��
 ��� ��
 %����!�5��
%�������$�3
%���% ���� %����!�5����&
���
�$+
$��� %����!�5��������>+
$%���q !�� .C� %��&%���u
$%����� %����!�5�
������+
$
%���q !�� .C� %��&%���u
$%����� 
��
�$	5$�	������+?�. ���
����&��
 .C� %��&%��
�u
$%���������	
����
����
� 4�%��� ������>���3���&���� �) �����&.��)>�.��
%��� � 	c��
���&��&.��)>����3�$���
��
 �����E$ 5 ��� .!�3��&3&����
��
 ����53�����&��3���&���� �) ���
��&.��)>�5$�% � .65 (Burns & Grove, 1993 
��$��& �.����
� 2548) ��$��E�	B$�&3&��k;�����&
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��&.��)>.���3�&�� $����+
$���
��
 ����5$ (multicollinearity) 
�3�$��%'��&45�� 	��������%��
���
!���&����
 ���+
$�k		������%����!�5�
��
�$	5$�	������+?�.��%���������3����&

������+
$.C� %��&%���u
$%���������	
����
����
����%������3� Tolerance 
���3�
Varience Inflation Factor (VIF) .!�3����
����%�������
 ����3
%�� 	B$���������
���3�$ D ��$%�3��
��� ������>���&%��������.C� %��&%���u
$%���������	
����
����
�+
$�������&��� &���
�&����	�����
� ��$����$ 7

����$ 7
�(���������%,�X�����!��,�����!*����������(���������/���������J/	
�	���J�)��/����� �!���!0��
��������1�����+�����)�	
��
���
&�� (N = 200)

���
�� 1 2 3 4 5 6
1. %����!�5��
%�������$ 1.00
2. %����!�5����&���
�$   .21** 1.00
3. %����!�5��������>   .22**   .18** 1.00
4. %����!�5�
������  -.07   .22**  -.21** 1.00
5. 
�$	5$�	������+?�.   .07   .10   .41** -.25** 1.00
6. .C� %��&%���u
$%�����  -.12   -.02   .15* -.19**   .28** 1.00
** p < .01, * p < .05

������%*-������%
����!0����������1�����+�����)�	
��
���
&��������*.%�
���
������������
���&��

4�%��,B%w��k		�������&��(������.C� %��&%���u
$%���������	
����
����
�+
$
�������&��� &����&����	�����
����%��� ������>(�(
�
!!+�E��
� (stepwise multiple regression)
��������&+�
�%�$�!�E
$���+
$%������( �  ��
 ���
����&��
$&����&��&.��)>�� $������$%�!���

��
 ��� (���
!���%����� scatterplot) ���
����&!���%�3�+
$���
��
 ���&�%��
	%
	$

!!�%�  (���
!���%�����%��m%��%��	�����$�%� ) ���&��&.��)>����3�$���
��
 ���
�3��
�����
�%�3� 0.65 (���
!���%������3���&���� �) �����&.��)>) ���
����3� Variance Inflation
Factor (VIF) ����3� VIF ��%�3�!����
��
 ��������
�%�3� 10 ���
����3� Tolerance (��&��3�
����
��$�3����
��
 ���&����&��&.��)>%�!���
��
���&�% 
�����
!���&&�
 ���	�%%��+
$�3�
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���&���������
��������3� Durbin-Watson AB�$���&��3�
�53����3�$ 1.5 - 2.5 (�.����
�, 2548) (?��
4��% $)

4�%��� ������>(�(
�
!!+�E��
� �������3���
��+
$���
����%����������E$�&�
��
 %����!�5��
%�������$�3
%���% ���� %����!�5����&���
�$+
$��� %����!�5��������>+
$%��
�q !�� .C� %��&%���u
$%����� %����!�5�
������+
$%���q !�� .C� %��&%���u
$%����� 
��

�$	5$�	������+?�. �+����%��� ������>����� )���$%�3��.!�3� ���
�������&��(���������&
������
+
$�3���
��.C� %��&%���u
$%����������
 
�$	5$�	������+?�. 
��%����!�5�
������+
$%��
�q !�� .C� %��&%���u
$%��������&��3���&���� �) ���%����������3�%�! .10 (p < .05) �&��(B$

�$	5$�	������+?�. 
��%����!�5�
������+
$%���q !�� .C� %��&%���u
$%�������&��(������
.C� %��&%���u
$%���������	
����
����
�+
$�������&��� &�����
��� 10 (R2 = .10, p < .05)
���
�$	5$�	������+?�.��&��(������.C� %��&%���u
$%���������	
����
����
�+
$����
���&��� &����&����	�����
����&�%������ (β = .28, p < .01) 
���&��
�. �&�����������+�E��
��3

��.!�3� %���������������
��$��
�3�$�&3&���������;��$�( � %�3����
 %����!�5��
%�������$�3

%���% ���� %����!�5����&���
�$+
$��� 
��%����!�5��������>+
$%���q !�� .C� %��&%��
�u
$%����� �&3��&��(������.C� %��&%���u
$%���������	
����
����
�+
$�������&��� &
����&����	�����
���� %��� ������>(�(
�
!!+�E��
��.��
���k		�������&��(������.C� 
%��&%���u
$%���������	
����
����
�+
$�������&��� &����&����	�����
�	B$��� �$��+�E���� 
2 ��$����$ 8

����$ 8
�(���������%,�X���%
����!0����������1�����+�����)�	
��
���
&��������*.%����
�����
�������
���&��  (N = 200)
���
�����,B%w� R R2 R2

change
b Beta t

1. 
�$	5$�	������+?�.
2. %����!�5�
������+
$%���q !�� 
.C� %��&%���u
$%�����

.28

.32
.08
.10

.08

.02
1.19
-.55

.28
-.15

4.19**
-2.28*

** p < 0.01   * p < 0.05         constant (a) = 63.38     SEE = 8.65
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	�%%��� ������>(�(
�
!!+�E��
� �.��
,B%w��k		�������&��(������.C� %��&%���u
$%��
�������	
����
����
�+
$�������&��� &����&����	�����
� ��&��(����$�&%��������
.C� %��&%���u
$%���������	
����
����
�+
$�������&��� &����&����	�����
� ���5�
��
��� !���
��
��	� $�����$��E

Y (.C� %��&%���u
$%�����) = 63.38 + 1.19 (
�$	5$�	������+?�.) - 0.55 (%����!�5�

������+
$%���q !�� .C� %��&%���u
$%�����)

	�%�&%����$%�3����&��(
) !������3� �&��
���!��
��
�$	5$�	������+?�. 
��%��
��!�5�
������+
$%���q !�� .C� %��&%���u
$%�����	���&��(������ ���
����
��.C� 
%��&%���u
$%���������	
����
����
�+
$�������&��� &����&����	�����
���E��3�������3�
�� &�.C� %��&�����
�&3 ��&��(�����	�%	���� �&������ 63.38 !�%%�! 1.19 +
$��
��
�$	5$�	
������+?�. �!%�! 0.55 +
$��
��%����!�5�
������+
$%���q !�� .C� %��&%���u
$%����� %'
	����!��
��.C� %��&%���u
$%���������	
����
����
�+
$�������&��� &����&����	��
���
�����&%����E��&��(������%���������
��$+
$��
��.C� %��&%���u
$%���������	
����
�
���
������
��� 10

���� �����'


!0����������1�����+�����)�	
��
���
&��������*.%����
��+�����	
�����/��

4�%��,B%w�.!�3� %��3&���
�3�$&�.C� %��&%���u
$%���������	
����
����
������&

�53������!�5$ (Χ = 2.66, SD = .34) (����$ 3) �&��
	��
�%�������.!�3� .C� %��&%���u
$%�����
����	
����
����
�
�53������!�5$��%���� �%��������%�����	��+?�.���	���- (Χ = 2.13, SD =
.92) ���
�53������!���%��$ 
�	����
$&�	�%%��3&���
�3�$&�%��

%%����$%������%����+�
$%�!$��
!���
��%�����%
!
���. AB�$����%����!�5�+
$%��3&���
�3�$�3�����%��

%%����$%��
�53
����&3	��
������
$

%%����$%������?�
���
�% ���%
!%�!� (���� ����	�����+
$������&��� &���&�%��
�q !�� ,���% 	����%�����&��AB�$������&��� &(�
�3�����%��

%%����$%�� 
��%��(�
,��
�
���������&��� &����
�3��3���u
$%������3�$ D ��� �
%	�%��E%�����������&��� &&����&,���)���
.��45������	�� 	B$&�� )�%��	��%�����&����������%�����B%(B$.��45������	��	B$������.C� 
%��&%���u
$%���������	
����
����
���E$ 3 ����
�53������!�5$ ������!.C� %��&%���u
$%��
�������%�����	��+?�.���	���-
�53������!���%��$ 
�	����
$&�	�%%��3&���
�3�$�3����;3
�&3&�������	����� &�?�����+?�.
+'$
�$ 
���&3&�!��������
!�����6�������������	
����
�
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���
� 	B$�&3������%(B$���&�����;+
$%�����	��+?�. 
��%�����%��3&���
�3�$�3����;3����

&3!���&����������
$�5
��&�� %����
!����	B$�������&3&�����������!%�����	��+?�. AB�$��&��(

? ����4�%��� 	����� ��$��E

���������%�������

4�%��,B%w�.!�3� �������&��� &����&����	�����
�&�.C� %��&%���u
$%���������%��
��!������
����
�53������!�5$ (Χ = 2.89, SD = .30) (����$ 3) 
��$�3�%��3&���
�3�$&�%�����
%
��!������
�������&��������>
��&���*�3���$�?���%���3
�3�$%�� ��'����	�%%�����%��3&���
�3�$&�
%����!������
����
�������&��������> (5%��
$��&���%%��
 ���& (b����) AB�$&�%��
�q !�� �������	����
��� 65.00 ��&��E$&�%�����$
�������%������E��&��(�������
$ �E��&�����+���
�E��&��+����.� AB�$&�%���q !�� �������	����
��� 33.50 (����$ 4) �
%	�%��E%�����%��3&���
�3�$
&�%����!������
���������!��E$ 5 �&53��
�3�����AB�$&�%���q !�� �������	����
��� 31.50 (?��
4��% � ����$ 9) %���q !�� ��$%�3��	�&�4���%���u
$%���������	
����
����
� ���%
!
%�!� (���� �+
$������&��� &AB�$&����&,���)���.��45������	�� 	B$&�%���q !�� ��&
��� �+
$,����

 ���&�%����%�!���%��%����!������
������
 ������
%��!������
��������� ��
�� &��������>

��(5%��
$��&���%%��
 ���& (b����) 4�%��,B%w���$%�3���
����
$%�!����%��,B%w����43��
&�AB�$.!�3��������%��$��
����������&����	�����
�&�%����!������
�������&���*�3��3
�3�$%�� 
��3� 
��������?�4�%���&�%�% 4��&�������.��$$������ ���%�����$%����!������
�������� �+&��
&�% 
��
��
����5$ ��&��(!� �?�
�������� &�*���(5%��
$ 
����&���&%�!���&��
$%��
+
$�3�$%�� (���*�, 2545; �� ��, 2545; �����*, 2545) ��&��E$%���q !�� ,���% 	����%��(�
,��
�
��! 1 ���
���
�3���- AB�$&�%���q !�� �������	����
��� 86.00 (����$ 4) ���������&��� &&�
���&����
�3�%��(�
,��
����(5%��
$����4����3
�3�$%�� ����
$	�%
�������������������3
�
�������
.�%43
����
!��� 
��������3�$%�����&��� ��3� �+&�� ���(5%���&������������E�������3�$%���&3

����% ���	B$����%����!��&�E�����% 
���3���u
$%��%���% �����3�$ D ��� (	 �����, 2543; &���,
2544; � ����  
�� ���*�, 2548) ��$��'����	�%%��,B%w�+
$	 ����� (2540) .!�3��3�$���
�(�

,��
��E�����%+
$�3�$%�� 
������!���%���A
���>���$%�3��3�$����&3���(�
,��
�

�
%	�%��E%��3&���
�3�$�3��&�%&��������.��$.

���&3&����E� ���
��� 47.50 (����$ 2)
	B$��������&��(	����
�������&���*�3�
��&��������>����.��$.
%�!���&��
$%��+
$�3�$%�� ���
45����&��������5$	�&��
%����%��
��$��� �$
��������&����% � �$��������������>�3
�3�$%�� ��3�

�������&��������> 
��&���*�3� ���&�%%�3�45����&���������
� (Pender et al., 2002) �
����
$%�!
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%��,B%w����43��&�AB�$.!�3� %��&��������.��$.
%�!���	3��������&����&��&��(��%�����
%��
����
���&���*�3� ���
&��������>����.��$.
%�!���&��
$%��+
$�3�$%�� (��%�;r�, 2543; Stelmach,
Kaczmarczyk-Chaas, Bielecki, Stelmach & Drygas, 2004; Rivera, 2000) 
��
&��3�.C� %��&%��
��!������
����+
$�������&��� &����&����	�����
�
�53������!�����&���&
�3�&��
. 	��*�
�������+�
.!�3� .C� %��&%����!������
����!�$+�
���&�%���3$��� &���%��3&���
�3�$&�%��
�q !�� &�%+BE� ��3� %����!������
���������!��E$ 5 �&53��
�3����� 
��%����!������4�%
&�%%�3����E
����> �������

����������������*��

4�%��,B%w�.!�3� �������&��� &����&����	�����
�&�.C� %��&%���u
$%���������
%��	��%�����&������
�53������!�5$ (Χ = 2.83, SD = .39) (����$ 3) 
��$�����'��3� �&��
&�
���&�������% �+BE�%��3&���
�3�$��&��(	��%�����&�������������
�3�$�� � )�%��	��%�����&������
���&�%���q !�� �������	��&�%������ ��
%��!
%%�!����
$��&
�3��k;������% �+BE�����%�����
!	�%
.��45������	�� (��
��� 35.00) (����$ 4) 
�	����
$&�	�%� (�%������� ���� �+
$������&��� &����� (�
%������� ���� ����&����&,���)� 
�����B%(B$.��45������	����
����� (����$�>, 2547) �
%	�%��E%��
�q !�� ,���% 	 ��3� %�����&������%�����	 ��	����$! ���B%(B$.��45������	�� �3�����&�	 ��	�$!
�&3m�u$A3�� AB�$(�
����� )�%��	��%�����&������
�%� )���B�$ (��&���	> 
�� 
�
��A'$, 2533; &���,
2544) %���q !�� ��&
����$,���� ��3� %�����&�� %������&�)  %�����&��> ���
%��
3��
���$��
�%����%�!,���� ������� 	���&��(�3�����	 ��	�$! &���  
���&�)  �3�������&� �%
%�$�� 
��m�u$A3�� ��$��3�����%��,B%w����.!�3� %��3&���
�3�$&�� )�%��	��%�����&����������%��
�q !�� ,���% 	AB�$&����&
�%�3�$%����
�3��,���� ��3� ���$�&�)  
3�����$��
�%����%�!,���� (	 �
���*, 2541; ?���	 �, 2546; ��� *�, 2541; 
���&.�, ���
����, .��?� 
�� ���?�,��, 2547) ������!
� )�%��	��%�����&���������%��3&���
�3�$&�%���q !�� �������	��&�%������ �
$�$&���
.5����
��B%w��k;��%�!!�����%��� � !������������$�	 ���
!���������!(�
�&��
�&3�!���	 (��
��� 34.00) 
��&�
% 	%��&�������&�3�$����5��B%43
����� ��3� mk$�.�$ �5�����,�> 
3�����$��
 (��
��� 28.00) ��&
�����! (����$ 4)

�
%	�%��E� )�%��	��%�����&���������%��3&���
�3�$&�%���q !�� !3
����E$ ��
 .����&
%��+
�k;������% �+BE��������
$ (��
��� 44.50) ��+�
&5��. �&�� &�%����%�!%��
%��+�k;��	�%45�
���
������
&����!���%�!���
$�.��
�3�����%��
%��+�k;����+BE� (��
��� 36.00) 
���
����!.�%43
�%��$���
���&�*����� 20 - 30 ���� (��
��� 35.50) �3��� )�%��	��%�����&���������%��3&���
�3�$&�%���q !�� 
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!�$���E$ ��
 ����������&�(������3�$ D (��
��� 59.50) 
��
3�����$��
�%����%�!,���� (��
��� 45.00)
(?��4��% � ����$ 9) �
����
$%�!%��,B%w����43��&�AB�$.!�3� %��3&���
�3�$&�� )�%��	��%��
���&������
�53������!��AB�$&�� )�%��	��%�����&���������
�%�3�$%�� ��3� .�%43
��
����!
�3�$
�.��$.
 �B%(B$
�3� �$�����$�&%3
��
� �
&��!� �$����&3��&��(�������
��$��� 43
���������%�����
�&�)  ��&��E$%���q !�� ,���% 	����%�����&������� 5 ���E$ (�%������>, 2544; ��%�;r�,
2543; �����, 2544; 
? ���, 2540; Chaiput, 2003) �
%	�%��E%��3&���
�3�$�3����;3&��(��?�.�53
(��
��� 82) (����$ 2) �����������!%���3������
���!�����������3�$ D 	�%�&�� %����
!����

���53�&���3$4����&�%��	��%�����&�����������&���& (Pender et al., 2002) �
����
$%�!%��
,B%w����43��&�AB�$.!�3�%�����!���������3�$ D ��3� 
��&*> ��$�& +�
&5�+3����� �3$4����&�
%��	��%�����&���������
�3�$��&���& (�� ,��, 2543; .��?�, �����*�, ��. � 
�� ������%w*>,
2543; � ���, 2542) 
��	�%%��,B%w����E$��E.!�3�� )�%��	��%�����&���������%��3&���
�3�$��
���
85.00 �&3����q !�� ��
 %��������
����!���
��%�3
&�������&��
&����&������&�% (����$ 5) 	B$���
���!��������$�q !�� �3
��

�������
�
�����

4�%��,B%w� .!�3��������&��� &����&����	�����
�&�.C� %��&%���u
$%���������
%��

%%����$%��
�53������!�5$ (Χ = 2.53, SD = .55) (����$ 3) 
�	����
$&�	�%%��3&���
�3�$&�%��


%%����$%������%����+�
$%�!$��!������&�%�����������%�����% 	%��&�3�$ D ��3� ���E������&�
��5%����&� ���$��!��� ���
% 	%��&�����������$��


% AB�$&�%���q !�� �������	����
��� 40.50
��&��E$&�%��

%%����$%������%���q !�� % 	�������	����� ��3� �� �+BE�!���� �� �
��%�����$
�( AB�$&�%���q !�� !3
����E$��
��� 30.00 (����$ 4) �
%	�%��E%��3&���
�3�$��
��� 36.50
���%
!
���.��!	��$/������ (����$ 2) AB�$����%����!�5�+
$%��3&���
�3�$�3�%�����$�����
%��
���%
!
���.����%��

%%����$%��
���	B$�&3	��������
$

%%����$%��
�% �
����
$%�!����
%��,B%w����43��&�AB�$.!�3�%��3&���
�3�$&�%��

%%����$%�����%���q !�� % 	%��&����%����+�
$
%�!
���. $��!��� ���
%������� �% 	�������	����� ��3� ���$��!��� ���������� �� ����
�k��	�%����
�����$�� ������� (!��4�, 2544; �� ��, 2545; �����, 2544; Nies, Vollman & Cook, 1998; Wilson,
2003)

������!%��

%%����$%�����(5%��
$��&���%+
$%��

%%����$%�� ���
%3 %��

%%����$
%��
�3�$��
� 30 - 60 �����3
���E$ ������>��
�3�$��
� 3 ��� .!�3�%��3&���
�3�$��
��� 38.00 �&3
����q !��  (����$ 5) ���
(���q !�� .!�3� &�%���q !�� �������	���.��$��
��� 10.00 (?��4��% �
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����$ 9)���&�%��

%%����$%������?�����

��! � �k��	�%���� � �$ ��&��E$%��!� ����3�$%��
���������
$

%%����$%�� �3��%��

%%����$%����&����+
$%��

%%����$%�� ��+�
�� �&

%
%����$%������%��

%
�$�!� D ���$	�%��E��3
��. �&���&
�$	��5��B%����	������'� ��$��


% 
���
�3
�����$����
� D &�%���q !�� �������	����
��� 11.50 ��+�
%3
�%��

%%����$%��&�%�����
%���&���E
���


%
�$�!� D &�%���q !�� �������	����
��� 9.50 
����+�
���$	�%

%%����$%��&�
%��43
�����%���&���E
 ����%��

%%����$%���!� D �������������&�* 5 - 10 ���� &�%���q !�� 
�������	����
��� 15.50 (?��4��% � ����$ 9) �
%	�%��E%����$�%�
�%��4 ��%� +*�

%%����$
%�� ��3� �	'!����
% �	���� ����	�����
�.!�3� %��3&���
�3�$��
��� 34.00 �&3����q !��  (����$ 5)

�	����
$&�	�%%��3&���
�3�$+�����&�5� 
�����&�+���	���(5%��
$�%����%�!���%+
$%��

%%����$%��
���

�	����%����%���	��q !�� ��&���%��$�Cwr� �
����
$%�!����%��,B%w����43��&���
%��3&�����%��3�$ D .!�3�%��3&���
�3�$&�%��

%%����$%������&3(5%��
$��&���%%��

%%����$
%���%����%�!����
!
�3��3�$%�� ���&(�� ���&
�$ ���&�����%��

%%����$%�� 
������43
�
���� (�� ;;�, 2544; �� ��, 2545; �����, 2544; Chaiput, 2003) ��E$��%��3&.��!�� (	 �

���, 2543;
?���	 �, 2546) 
��%��3&45��6���������	
����
����
� (�� ,��, 2541; ��.����, 2542; 
�	c� ��, 2540)

�
%	�%��E� (���� �+
$������&��� &���&�%���q !�� ,���% 	����%�����&�� ���&�%��
���&������� 5 ���E$ 
�3�����E$����������&�* 10 - 15 ���� (��
��� 64.50) (����$ 4) AB�$�3��3�$
D ��������%�����&�� ��3� �3���� �%&�
 ���$ %��! ���$�����������$A���+�� 
���q !�� AE��%�� ���
������ D ���E$ ������&��� &(�
�3�����%��!� ����3�$%�����
%��

%%����$%�� (&���, 2544;
�������>, 2535) 
��
&��3��������&��� &����&����	�����
�&�.C� %��&%��

%%����$%��
�53������!�5$

�3.!�3� &�.C� %��&%��

%%����$%������&3(5%��
$��&���%+
$%��

%%����$%�� �%����%�!����

!
�3��3�$%�� ���&(�� ���&
�$ ���&�����%��

%%����$%�� 
������43
����� ��$��E�%���3$
��� &���%��3&���
�3�$&�%��

%%����$%�����(5%��
$��&���%+
$%��

%%����$%�� ��&��E$&�%��
��$�%�
�%��4 ��%� +*�

%%����$%�� ��3� 
�%���	'!����
% ����	�����
� �	���� ������� 	B$����
�����'������;��%���3$��� &��+?�.
���u
$%�����

���������� �!����
��I

4�%��,B%w�.!�3� �������&��� &����&����	�����
�&�.C� %��&%���u
$%���������
%�����	��+?�.���	���-
�53������!���%��$ (Χ = 2.13, SD = .92) (����$ 3) 
�	����
$&�	�%
%��3&���
�3�$�3����;3�&3&�������	����� (��
��� 88.50) �&3&�!��������
!�����6�������������	
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����
����
� (��
��� 91.00)  
��&�?�����+?�.
+'$
�$ �&3&�������
���&�����$��$��+
?�. (��
��� 78.50) 	B$�&3��'����&�����;+
$%�����	��+?�.���	���- ���%�����	��+?�.���
	���-���%��3&���
�3�$&�%���q !�� &�%���������
%3 %��� ���&���	���&������ �
�3�$�&�����&

��
��� 26.50 �
$�$&���
 ����!%�����	��+?�.���	���-��%�-��
��� 20.50 
��� ���&%�����	
����!�E����������
�
�3�$�&�����&
��
��� 17.50 (����$ 4) �
����
$%�!%��,B%w�+
$� ����, A �

��
!��� � (Wilson et al., 1997) ���.!�3�%��3&���
�3�$&�%�����	���&������ � 
������!�������

�
��.��
�u
$%���������	
����
����
��.��$��
��� 22.50 
��	�%%��,B%w�+
$���.��) (Chaiput,
2003) .!�3��������&��� &��
��� 52.50 �&3������	��+?�.���	���- ����
$	�%&�%����!�5��3���
�
$&���+?�.
+'$
�$��	B$�&3��'����&�����;+
$%�����	��+?�. ���%
!%�!&����������
$�5
�
!��� �&�� %����
!����	B$�&3&�����������!%�����	��+?�. 
��	����	��+?�.�&��
&����&
�	'!�6����3���E� 	�%%��,B%w�+
$��%�;r� (2543) .!�3����������!$��&�������!�����������!%��
���!���$�%����%�!%�����	��+?�.���	���- ����
$	�%%��3&���
�3�$�3����;3
�53�����45���;3AB�$��$
&��3�$%��
+'$
�$
�	������+��%���
��	��3����+?�.+
$���
$ 
��	�%%��,B%w�+
$��� &�, � .�
.��)> 
�� �
$	 �� (2546) �%����%�!.C� %��&��+?�.+
$����������45���;3.!�3� %��3&���
�3�$��
�
�� 78.30 �&3������	��+?�.���	���-��3������%��

�
%	�%��E�&��
. 	��*�.C� %��&%���u
$%������������	��+?�.���	���-�������
+�
 .!�3� %�����	��+?�.���	���-���%��3&���
�3�$&�%���q !�� ��
������� 3 
����!
�% ���
%3 %��
���	��+?�.�������	����%�- (��
��� 47.00) �
$�$&���
 �+����!%�����	��&
.��>���
��$
.��!������&��
&�
�%��4 ��%� 
�3�$��
�3�$��B�$ (��
��� 42.50) 
��� ���&%�����	����!�+&����
���
�
�3�$�&�����&
 (��
��� 41.50) (����$ 5) 	B$���&�%���3$��� &����������&��� &���&�%�����	
��+?�.���	���- ����c.��%�����	����!���&������ � ����!�E����������
� 
������!�+&����
���
� �.��
���
%�������$�3
%���% ��������	
����
����
�

������%*-������%
����!0����������1�����+�����)�	
��
���
&��������*.%����
��������
����
���&��

	�%%��,B%w��k		�������&��(������.C� %��&%���u
$%���������	
����
����
�+
$
�������&��� &����&����	�����
�.!�3� 
�$	5$�	������+?�. 
��%����!�5�
������+
$%��
�q !�� .C� %��&%���u
$%����� ��&��(�3�&%��������.C� %��&%���u
$%���������	
����
�
���
�+
$�������&��� &����&����	�����
������
��� 10 (R2 = .10, p < .05) ���
�$	5$�	����
��+?�.��&��(������.C� %��&%���u
$%���������	
����
����
�+
$�������&��� &����&�



59

���	�����
����&�%������ (β = .28, p < .01) 
�	����
$&�	�%
�$	5$�	������+?�. 
��%����!�5�

������+
$%���q !�� .C� %��&%���u
$%����� �% �	�%%�����!�����
$�q !�� .C� %��&
���&�	��&�3$�&�� ��$��E�%�����%��3&���
�3�$&�
�$	5$�	������+?�.
�53������!�5$ 
��&�%����!�5�

������+
$%���q !�� .C� %��&%���u
$%�����
�53������!���%��$	B$&�%���q !�� .C� 
%��& ���&�	��&�3$�&���.��
�u
$%���������	
����
����
� ������!%����!�5��
%�������$�3
%��
�% ���� %����!�5����&���
�$+
$��� 
��%����!�5��������>+
$%���q !�� .C� %��&%���u
$%�����
�&3��&��(�3�&������.C� %��&%���u
$%���������	
����
����
�+
$�������&��� &����&�
���	�����
���� 
&��3�	�&�%����!�5��������>+
$%���q !�� .C� %��&%���u
$%�����
�53������!
�5$&�% &�%����!�5��
%�������$�3
%���% ���� 
��&�%����!�5����&���
�$+
$���
�53������!�5$ 
�	
����
$&�	�%%����!�5���E$ 3 ��������%����!�5����������+
$!�����&3����% �	�%���&��E$�	��%��
�q !�� .C� %��&%���u
$%����� AB�$��&��(
? ����4�%��� 	����� ��$��E


�$	5$�	������+?�. ��&��(������.C� %��&%���u
$%���������	
����
����
�+
$
�������&��� &����&����	�����
����&�%������ (β = .28, p < .01) 
��$�����'��3�%��3&���
�3�$&�

�$	5$�	������+?�.
�53������!�5$ 	B$�% �
�$%��������%�����	��q !�� .C� %��&%���u
$%���������	

����
����
� ���
�$	5$�	������+?�.�% �	�%���&���	����+?�.���������+
$!���� ����
���&�5��B%+
$!��������% �	�%%��������������
$+
$��+?�. 
��$(B$���&��
$%�����	����&�AB�$
��u��&����$��+?�.���5�
!!+
$���&��
$%�� ���&��E$�	 ���
%���q !�� ��&���
����� AB�$����
� �$�����;��%��4��%������!�����% �%���������
��$.C� %��& ���%�����%�����$%��&�.C� %��&����&3
��
�?�� �
��	��3�5
���+?�.+
$���
$ &����&���	��%��
��$�����&�5� 
��3$!� %����$��+
?�. ��E$��?����%� 
��?����	'!�6���.��
������
$&�.C� %��&��+?�.�����
����&���& (Becker et
al., 1977) 	�%%��,B%w����E$��E.!�3� %��3&���
�3�$��'�����
�3�$� �$�3�%�����	��q !�� .C� %��&%��
�u
$%���������	
����
����
�������4��� ��
$&����&���	
���
��	��3�5
���?�.+
$���
$
�53
�&�����&
 (��
��� 45.50) �
$�$&���
 ��
$&��3�$%������&!5�*> 
+'$
�$ (��
��� 38.50) 
��
��
$�q !�� ��&���
�����	�%!����%���$������+?�. (��
��� 37.50) ��&�����! 
��%��3&���
�3�$
��'������3�%�����;�� /�&�� %����
!�������!����%���q !�� .C� %��&%���u
$%���������	

����
����
� (��
��� 70.50) %�������!���&�5��%����%�!�������	
����
����
�	�%���
�3�$
D
(��
��� 57.50) ��&��E$%��
3��
��� ���&+3������3�$ D 	�%���$��
. &.> ������ ���
���%�����
��,�> (��
��� 55.50) 	��3��%���������%��3&���
�3�$&�%���q !�� .C� %��&%���u
$%���������	
����
�
���
��. �&&�%+BE� (?��4��% � ����$ 10) �
����
$%�!%��,B%w�+
$��� &� (2534) .!�3� 
�$	5$�	������+
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?�.&����&��&.��)>%�!.C� %��&��+?�.�.��
�u
$%����� (r = .39; p < .001) 
��&����&��&��(��%��
������.C� %��&��+?�.��%���u
$%����������
��� 22 ��&��E$����%��,B%w����43��&�AB�$.!
�3� 
�$	5$�	������+?�.��&��(������.C� %��&%���u
$%�����
��.C� %��&��+?�.+
$
!������� (	 �����, 2542; 	����, 2544; !��4�, 2544; �� ,��, 2534; &��., 2542; &���, 2545;
Christensen, 1999; McCausland, 1990; Peterson, 1993)

%����!�5�
������+
$%���q !�� .C� %��&%���u
$%����� ��&��(������.C� %��&%��
�u
$%���������	
����
����
�+
$�������&��� &����&����	�����
���� AB�$%����!�5�
������
+
$%���q !�� .C� %��&%���u
$%����� �����k		��+��+��$������!����&�%�����%�����$%���q !�� 
.C� %��&%���u
$%����� ��%!����&�%����!�5��3�%��
��$.C� %��&��&��(�����&�����$�3
%��
�% ���� �����&���
�$+
$��� &��������>
�3�$&�%��%���u
$%����� 
����!�5��3�%��
��$.C� 
%��&&�
��������
� !����	�&����&.����&���	�
��$.C� %��&%���u
$%��������(5%��
$�. �&+BE�
(Rosenstock, 1990 cited by Salazar, 1991) AB�$4�%��,B%w����E$��E.!�3���
��%����!�5�
������
+
$%���q !�� .C� %��&%���u
$%��������
�53������!&�% ��
 ����?����3
��
!������%�������&

������
��� 37.00 �
$�$&���
 ��
$�����3����	3���. �&�� &��
��� 35.50 
����������
��
��� 27.50 ��&�����! (?��4��% � ����$ 10) �
����
$%�!%������,B%w����43��&�AB�$.!�3�
%����!�5�
������+
$%���q !�� .C� %��&%���u
$%�����&����&��&.��)>%�!.C� %��&%���u
$%�����

����&��(������.C� %��&%���u
$%�����+
$!������� (c�����*, 2543; ���*�, 2545; !��4�,
2544; �� ,��, 2534; �����, 2545; ��� ��, 2544; Ai-Khasawneh, 2002; Christensen, 1999;
Ekstrom, 2004; Kim, 2002; Moore, 2000; Ngo, 2003; Othman, 2000; Squires, 2001; Szpilfogel,
1998) 
����$.!�3�%����!�5�
������+
$%���q !�� .C� %��&%���u
$%�������&��(
) !��
.C� %��&%���u
$%�����+
$!�������&�%������ (Janz & Becker, 1984)

�3��%����!�5��
%�������$�3
%���% ���� %����!�5����&���
�$+
$��� 
��%����!�5�
�������>+
$%���q !�� .C� %��&%���u
$%����� �&3��&��(������.C� %��&%���u
$%��
�������	
����
����
�+
$�������&��� &����&����	�����
���� 
�	&�������&�	�%%�����45�
��!!� %���3����;3������&�����;%�!%�����	&���'$��%&��5%&�%%�3�%�����	��+?�.�.��

�u
$%���������	
����
����
� ����
$	�%
�53���3�$���&�%���*�$�>�%����%�!%�����	&���'$
��%&��5% ���%
!%�!%��3&���
�3�$�3����;3&�?�����+?�.
+'$
�$ �&3&�������
���&�����$
��$��+?�. (��
��� 78.50) 
���&3&�!��������
!�����6�������������	
����
����
�
(��
��� 91.00) (����$ 2) 	B$�&3������%(B$���&�����;%���q !�� .C� %��&%���u
$%��������
�	
����
����
� �
%	�%��E� (���� �+
$������&��� &���&�%���q !�� ,���% 	�3�$ D ��3� %��
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���&�� %��(�
,��
� ���%���q !�� ,���% 	��$%�3���&3���&�	��&�3$�&���.��
�u
$%���������	

����
����
� 
�3����%���q !�� ��&���%�q !�� +
$,����
 ���&���������&��� &��
$
�q !�� �������	�� �
����
$%�!����%��,B%w����43��&�AB�$.!�3�%����!�5��
%�������$�3
%��
�% ���� %����!�5����&���
�$+
$��� 
��%����!�5��������>+
$%���q !�� .C� %��&%���u
$%��
����&3��&��(������.C� %��&��+?�.+
$!������� (���*�, 2545; !��4�, 2544; ��� ��, 2544;
Hill, 1994) 
��	�%%����!��&$��� 	��+
$
	�A> 
�� �!��%
�> (Janz & Becker, 1984) .!
�3�%����!�5����&���
�$+
$���&����&��&.��)> 
��������.C� %��&%���u
$%�����+
$
!���������
�������

������!
����	%��������.C� %��&%���u
$%���������	
����
����
��������

�%��
���
90.00 �&3��&��(
) !�����	�%%��,B%w����E$��E 
�	����
$&�	�%���
��
������
�53�
%����
%��,B%w�
AB�$45�� 	���&3������&�,B%w�AB�$����
$�>���%
!�k		�����!������� ��3� 
��� �����k		�����&�4��3
.C� 
%��&+
$!���� !�������&�
���
�%�3�$%��	�&�.C� %��&%���u
$%������3�$%�� ��$��3�����%��
,B%w����43��&�AB�$.!�3�
���&����&��&.��)>%�!.C� %��&%���u
$%����� 
����&��(������
.C� %��&%���u
$%�������� (*�x %�;	�>, 2542; &��., 2542; ��� &�, 2534) x�����$�,�wx% 	
����� �$���
��$(B$������+
$��
!���� ���45����&��������5$	�&��
%����%��
��$��� �$�������
�������>�3
%���5
����
$&�%%�3�45����&����������� (Pender et al., 2001) 
���(��?�.�&�� AB�$
%�����!����	�%�53�&������
��3$��B�$+
$%�����!������$��$�& 
��&����&��&.��)>%�!.C� %��&
��+?�.+
$!���� AB�$%�����!������$��$�&	�&��3���3�����!�����+��(B$%��!� %�� ���
&�
.C� %��&%���u
$%����������%�3�45�����&3&�%��3&���!������$��$�&

4�%��� 	�����E$��E��������3� �&&� x��+
$%��� 	�������!%�����!����!�$�3�� %�3����

�k		�������&��(������.C� %��&%���u
$%���������	
����
����
�+
$�������&��� &����&�
���	�����
� ���
%3 
�$	5$�	������+?�. 
��%����!�5�
������+
$%���q !�� .C� %��&%���u
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